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. 37 >2—>1—>8—>6—=>9—>4->12>10~> 11 > 5> €4,C10
A knot dlagranﬂ € €L CT Cg € €3 Ci2 C9 Ci1 Cs ’

Ideals for irreducible componentfbf Xpar

I = (b +2u0 . —3u—1)
I3 =(u—-1)

* 2 irreducible components of dim¢ = 0, with total 88 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(ud" +2u®® ... —3u—1)

(i) Arc colorings

—u20 4+ 5418 — 1108 4+ 10u!* 4+ 202 — 13ul® 4+ 9u® — 3ut + w2 + 1
u?? — 6u0 + 17u'® — 2606 + 200 — 130 + 10u® — uf — 2u* + u?

az =
0
a? = u
1
ag = _u2
—u? +1
a’l = _u2
wd —2ud +u
ag = w —ud +u
u
ag = —ud +u
—ud 4+ 2u" —ub -2l +u
ag = \yM — 30 +4u" —uw®P —ud 4+ u
ayq = <
—u® + 3ub — 3ut +1
a2 = —u8 + 2u8 — 2ut
7U27 + 8u25 + + 4U5 _ U3
alO = _u27 + 7u25 + _ u3 + U
ub0 — 13048 + +ul+1
a1 = \ —y®2 4+ 14459 + ... — 6ud — u?
uw® — 21+ U+ 1
as = 6 _20u™ + - 4+ 10u8 — u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u%0 —

92udt + ... —4u? + 6

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ST+ 46uSC - —u 41
C2,Cg W =2 —3u+1
€3 u®" — 208 ... — 15553u + 1789
C4,Cs5, C10 W =390+ —u+1
c7,C12 u” = 3uBS - £ 59u 4+ 11
Cs w1200 4+ Bu 1
Co u®" — 18uB% + - 4+ 65191u — 4073
c11 uT —3u®0 . — Bu+ 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

€1 YT —10y%0 + -+ 3y —1

C2,Ce YT =46y oy — 1
C 87 86

3 y®7T —22¢8¢ + ... + 148162943y — 3200521
C4, C5, C10 T T8y —y -1

7, C12 YT +69y5¢ + ... — 1579y — 121
c8 YT+ 2% 4. 18Ty — 1
Co y®7 +26y% + - .. — 406378973y — 16589329
11 y®7 — 3% + . + 581y — 121




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol ++/—1CS) Cusp shape
u = —0.966141 + 0.2579891 3.05247 — 1.136771 0
u = —0.966141 — 0.2579891 3.05247 4+ 1.136771 0
u = —0.884260 + 0.4736661 1.43118 + 4.235761 0
u = —0.884260 — 0.4736661 1.43118 — 4.235761 0
u = —0.840538 + 0.5178071 1.69738 + 3.452231 0
u = —0.840538 — 0.5178071 1.69738 — 3.452231 0
uw=0.862004 + 0.5371171 0.53831 — 7.102551 0
uw=0.862004 — 0.5371171 0.53831 4 7.102551 0

uw=0.818200 + 0.5449611

7.81764 — 1.634531

7.64996 + 3.752861

u= 0.818200 — 0.5449611

7.81764 + 1.634531

7.64996 — 3.752861

u = —1.014630 4+ 0.0763791 —3.56476 + 3.140411 0
u = —1.014630 — 0.0763791 —3.56476 — 3.140411 0
u = —0.862976 + 0.5505461 6.01709 4 10.558401 0
u = —0.862976 — 0.5505461 6.01709 — 10.558401 0
uw= 1.034630 + 0.1006911 1.61270 — 6.528421 0
u= 1.034630 — 0.1006911 1.61270 + 6.528421 0

uw= 0.877745+ 0.3814411

—1.57258 — 1.453951

—5.27659 + 2.812511

w= 0.877745 — 0.3814411

—1.57258 + 1.453951

—5.27659 — 2.812511

= 0.949322

—1.75071

—4.59820

uw= 0.707240 + 0.5488891

8.13382 — 2.767211

8.70750 + 3.541921

uw= 0.707240 — 0.5488891

8.13382 4 2.767211

8.70750 — 3.541921

u = —0.644779 + 0.5635361

6.63286 — 6.100661

6.67875 + 3.116471

u = —0.644779 — 0.5635361

6.63286 + 6.10066.1

6.67875 — 3.116471

u = —0.682539 + 0.5092791

2.15178 4+ 0.763261

5.46969 — 3.605421

u = —0.682539 — 0.5092791

2.15178 — 0.763261

5.46969 + 3.605421

u= 0.641757 + 0.5404161

1.15794 + 2.744281

2.34838 — 3.287401

uw= 0.641757 — 0.5404161

1.15794 — 2.744281

2.34838 + 3.287401

u = —0.147114 + 0.8079331

2.59735 — 11.101701

2.85354 + 7.046381

u = —0.147114 — 0.8079331

2.59735 4 11.101701

2.85354 — 7.046381

uw= 0.139710 + 0.8032111

—2.82602 + 7.503721

—1.71194 — 6.830431




Solutions to I V—1(vol + /—1CS) Cusp shape
= 0.139710 — 0.8032117 —2.82602 — 7.503721 | —1.71194 4 6.830431
= —1.093090 + 0.4618671 3.40048 — 0.741961 0
= —1.093090 — 0.4618671 3.40048 4 0.741961 0

—0.104841 4 0.7926101

—1.84325 — 3.954661

—0.78666 + 4.043441

—0.104841 — 0.7926101

—1.84325 + 3.954661

—0.78666 — 4.043441

—0.131118 4- 0.7875611

—1.39783 — 3.696011

1.00853 + 1.781361

—0.131118 — 0.7875611

—1.39783 + 3.696011

1.00853 — 1.781361

1.121560 + 0.4525901

—2.20477 — 2.150241

0

1.121560 — 0.4525901

—2.20477 4- 2.150241

0

—0.055872 + 0.7879181

0.12538 + 2.845701

0.09778 — 2.420361

—0.055872 — 0.7879181

0.12538 — 2.845701

0.09778 + 2.420361

0.078455 + 0.7857411

—4.55325 4 0.557421

—5.08529 4 0.677141

0.078455 — 0.7857411

—4.55325 — 0.557421

—5.08529 — 0.677141

0.157374 + 0.7725041

4.93345 + 2.243361

5.56036 — 2.084311

0.157374 — 0.7725041

4.93345 — 2.243361

5.56036 4 2.084311

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

= —1.138470 + 0.4763841 —1.96887 + 5.600741 0
= —1.138470 — 0.4763841 —1.96887 — 5.600741 0
= 1.131420 + 0.4934501 3.87168 — 8.160811 0
= 1.131420 — 0.4934501 3.87168 4 8.160811 0
= —1.184400 + 0.3733921 0.98186 + 1.544031 0
= —1.184400 — 0.3733921 0.98186 — 1.544031 0
= 1.202200 + 0.3868931 —5.34474 — 0.274991 0
= 1.202200 — 0.3868931 —5.34474 4 0.274991 0
= —1.210270 + 0.3783261 —6.87411 — 3.523241 0
= —1.210270 — 0.3783261 —6.87411 + 3.523241 0
= 1.212320 + 0.3725961 —1.49892 + 7.139141 0
= 1.212320 — 0.3725961 —1.49892 — 7.139141 0
= 1.207670 + 0.4002511 —5.72997 — 0.138641 0

1.207670 — 0.4002511 —5.72997 4 0.138641 0
= —1.206850 + 0.4144201 —8.33467 + 3.618491 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.206850 — 0.4144201 —8.33467 — 3.618491 0
u = 1.208380 + 0.4246321 —3.59584 — 7.104421 0
u=1.208380 — 0.4246321 —3.59584 4 7.104421 0
w=1.179390 + 0.5106971 1.94326 — 7.003261 0
w= 1.179390 — 0.5106971 1.94326 + 7.003261 0
u = —1.199560 + 0.4773301 —3.22033 4 1.745131 0
u = —1.199560 — 0.4773301 —3.22033 — 1.745131 0
u = 1.196800 + 0.4863671 —7.82292 — 5.200621 0
u = 1.196800 — 0.4863671 —7.82292 4 5.200621 0
u = —1.189780 + 0.5060051 —4.50194 + 8.461751 0
u = —1.189780 — 0.5060051 —4.50194 — 8.461751 0
u = —1.195880 + 0.4969331 —5.04500 4 8.679491 0
u = —1.195880 — 0.4969331 —5.04500 — 8.679491 0
w=1.193320 + 0.5119801 —5.93104 — 12.338101 0
u=1.193320 — 0.5119807 —5.93104 4 12.338101 0
u = —1.193390 + 0.5156471 —0.4909 + 15.96697 0
u = —1.193390 — 0.5156471 —0.4909 — 15.96691 0
u= 0.232114 + 0.6553291 6.46120 4 3.725881 7.39278 — 3.370401
u= 0.232114 — 0.6553291 6.46120 — 3.725881 7.39278 + 3.370401
u = —0.527497 + 0.4419711 2.35577 — 0.339071 3.68741 4 0.054321
u = —0.527497 — 0.4419711 2.35577 4 0.339071 3.68741 — 0.054321
u = —0.329405 + 0.5896211 5.58601 4 4.900101 6.38719 — 3.760741
u = —0.329405 — 0.5896211 5.58601 — 4.900101 6.38719 4 3.760741
u = —0.181861 + 0.6027221 0.74652 — 1.350951 3.80548 4 4.350211
u = —0.181861 — 0.6027221 0.74652 4 1.350951 3.80548 — 4.350211
u=0.308308 + 0.5330071 0.19366 — 1.782981 1.92568 + 4.240611
u= 0.308308 — 0.5330071 0.19366 + 1.782981 1.92568 — 4.240611




(i) Arc colorings
az =
a7 =
a9 =
a)p =

ag =

(
(
(
(
e
(
(
(
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

II. I%

(u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4, Cs5, Ce u+ 1
Cg, C10
C7,C11, C12 U
€9 u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
C4, C5, Cg Y- 1
€8, C9, C10
C7,C11, C12 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = 1.00000 —1.64493 —6.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u+1)(u® 4+ 4650 4 - —u+1)

2, Cg (u+1)(u®" —2u% + .. —3u+1)
Cs (u+ 1)(u® —2u® + - -+ — 15553u + 1789)

C4, C5, C10 (w4 1)(u®" —39u®® + .- —u+1)

C7,C12 u(u® — 3uB® + ... 4 59u + 11)
8 (u+1)(u® — 12680 4 - + 3u+ 1)
Co (u—1)(u® — 18u®® + - - + 65191u — 4073)
c11 u(u® —3uBC + ... — 3u+11)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 (y — )% =105 + - + 3y — 1)

Ca, Cg (y — 1)y —469% + ... —y — 1)
€3 (y — 1)(y*" —22y% + - + 1.48163 x 10%y — 3200521)

€4, €5, C10 (y— D)@ =718y +-- —y—1)

7, C12 y(y®7 4+ 6995 + ... — 1579y — 121)
cs (y = D™ +2y% + -+ 187y — 1)
Co (y — 1)(y% +26y% + - -+ — 4.06379 x 10%y — 1.65893 x 107)
c11 y(y® — 3480 4+ . + 581y — 121)
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